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Problems for minilesson and journal response
1. Emily had 20 different head bands.  
She gave 6 of them to her sister.

How many head bands does she have now?
2. Emily had 20 different head bands.  

She gave some of them to her sister.

She now has 12 head bands.

How many head bands did she give her sister?

3. Emily had some head bands.  

She gave 7 of them to her sister.

She now has 20 headbands. 

How many headbands did she have before she gave some to her sister?

Journal question:  Solve: 17 + □ = 28.  

Show your thinking.

